[ Efficiency vs vertpos |
~ 0.2

TIPS SO S T —

2 E : : :
O AN AR
) 3 : : :
GO.LA i [ SRR AR

2 E : : :
L 2 SRR e

02'81;:iIiiEIiiii%i%:ffiiié:ff::

0.062—----------% ----------- g ------------- A

+ |
- 3

J=

2

& 1058 - {1t -4---{--F -1

4 + : +
- % .4 g

B = 2 EE = o EE JEEE S S b O
0.95f---

0.9 :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

~ 0.2

0018wt prrde prreneeeee preen
n E : : : : :
L S e S S
> C . . . . H
g L : : : : :
N I S ) N A
R . : . : .
R SR S | A ER
o L : : : : :

o 8 o 11—
0.08F |-y A t1 || EEERE
0.06f |-t l foeees IR
0.04F--piH-41H - + ------- Beeeeee A AHHE]
0.02F [t Hh. e -“M YA

E : FM' : f
9 lG._' Pl I | P TR | AN | sl by
I F H
o 1.05F 3 & BN
09p——20 -10 0 10 20 30

Wrr
o

TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045F
S
#0-04
% 035F
cO 03k
;@ 025F
0.02F
0.015f
0.01

0.005

o k
(=)
TITITTTT

Ratio
P
R

'—“zo 1510 5 0 5 10 1520
Sim. PV z (cm)




	Contents
	Page 1


